ICT-0a
In the metric (SI) system , the unit of electrical resistance is the …

A) ohm
B) mho
C) watt

D) ampere
E) galileo
Answer: ohm  

The mho is an inverse-ohm. 

The galileo (Gal) is a unit of gravitational acceleration = 1 cm/s2 , so g = 980 Gal (not to be confused with gallon!)
ICT-0b

In the metric (SI) system , the unit of current is the …

A) ohm
B) mho
C) watt

D) ampere
E) galileo
Answer: ampere

ICT- AUTONUMLGL  \* Arabic  A light bulb is attached to a battery with constant voltage V.  The light filament has resistance R.  The circuit diagram is shown below.  When the light bulb is first turned on by attaching to the battery, the filament heats rapidly, and as it heats, its resistance R increases (due to increased scattering of electrons by thermal vibrations).
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As the light bulb filament heats up, the current I in the filament ...

A) increases 
B) decreases

C) stays the same.

Answer: V stays constant, R increases, so I = V/R decreases
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ICT- AUTONUMLGL  \* Arabic  Two light bulbs are connected to a battery in series (in a chain, one after another).  How does the current in upper light bulb A compare to the current in lower light bulb B?
A) IA > IB

B) IA < IB

C) IA = IB

D) answer depends on relative size of RA and RB.

Answer: IA = IB. Current is conserved. Current does not get “used up” in the first resistor.  Every single electron that passes thru one bulb goes on to pass thru the other.  
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 Two cylindrical resistors are made of the same material (same resistivity ().  Resistor 2 is twice as long and has twice the diameter of resistor 1.  What is the ratio 
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 (The arrow shows the direction of current flow.)

A) 2
    B) 4
 
C) 1/2
 
D) 1/4

E) 1

Answer: 
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 (the resistivities cancel)
ICT- AUTONUMLGL  \* Arabic   A battery with emf or voltage V is attached to a resistor of resistance R.  The circuit diagram is shown below.  The point A is at zero volts.
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The correct voltages at the points B, C, and D are:

A) 
VB = 0V,  VC = 5V,  VD = 0V.

B) 
VB = 5V,  VC < 5V,  VD  >  0V.

C) 
VB = 5V,  VC < 5V,  VD = 0V.

D) 
VB = 5V,  VC = 5V,  VD = 0V.

E) None of these.

Answer: VB = 5V,  VC = 5V,  VD = 0V.  The voltage drop along an ideal wire is always zero.
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 Two identical resistors (RA = RB) are connected in parallel to a battery.  How do IA and IB compare?

(Hint: how do VA and VB​ compare?)

A) IA = IB 
B) IA > IB
C) IA < IB
How do Ibat and IA compare?

A) Ibat = IA 

B) Ibat = 2 IA 

C) Ibat = 3 IA 

D) None of these.
Answers: IA = IB and Ibat = 2 IA
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